
Math 1041 Answer-Keys to Even Review Problems for Test 2 Spring 2017

Section 3.4

16. g′(x) = (2x− 1) ex
2−x

Section 3.5

12. y′ = − y sin(xy)

x sin(xy) + cos y
28. y′ =

x+ y

x+ 4y
and the tangent line is y = −1
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50. y′ =
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52. g′(x) = − 1
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Section 3.6

18. y′ = csc x 50. y′ = (lnx)cos x
( cos x

x lnx
− sinx ln(lnx)

)

Chapter 3 Review:

4. y′ =
(1 + cos x) sec2 x+ tan x sinx

(1 + cos x)2
12. y′ =

4 arcsinx√
1− 4x2

14. y′ = tanx

72. y′ = 2x g′(x2) 76. y′ = g′(x) eg(x) 80. y′ =
g(x)f ′(x)− f(x)g′(x)
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√

f(x)

Section 4.1

62. Critical numbers are x = ±1. f(1) = 1− π

2
is absolute minimum value and f(4) = 4− 2 tan−1(4)

is absolute maximum value.

Section 4.2

8.

Section 4.3:

14. (a) f is increasing on (
π

2
,
3π

2
) and f is decreasing on (0,

π

2
) ∪ (

3π

2
, 2π).

(b) Local minimum is f(
π

2
) = −2 and local maximum is f(

3π

2
) = 2.

(c) f is concave upward on (
π

6
,
5π

6
) and f is downward on (0,

π

6
)∪ (

5π

6
, 2π). Inflection points are

(
π

6
, −1

4
) and (

5π

6
, −1

4
).



22a. Since y′ = x3(x− 1)2(7x− 4) so crotical numbers are 0, 1, and
4

7
.

29. 31.

34.

44. (a) G is increasing on (0, 1) and G is decreasing on (−∞, 1) ∪ (1, ∞).

(b) Local minimum is G(0) = 0 and local maximum is G(1) = 3.

(d)(c) G is concave upward on (−∞, −1

2
)

and concave downward on (−1

2
, 0) ∪ (0, ∞).

Inflection point is (−1

2
,

6
3
√
4
).

48. (a) S is increasing on (0, 4π) and never decrease.

(b) No local minimum or local maximum.
(d)

(c) S is concave upward on (o, π) ∪ (2π, 3π)

and concave downward on (π, 2π) ∪ (3π, 4π).

Inflection points are (π, π), (2π, 2π), and (3π, 3π).

Section 4.4
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